Consider the two linear equations for two
unknowns .,y

aza% + ya% = by (*)

xa% + ya% = b9

Do

1.2 1.2 2
xalaQ +ya2a2 = b1a;

:z:alaz + ya2a2 = b2a2
and subtract:

r(aias — atad) = byas — baal . (*2)

Do

1.2 1.2 2
:z:alal +ya2a1 = byag

ZCa,lCLl _|_ yazza/l — bQCLl



and subtract:

ylajas — ajay) = boaj — bya . (*y)

We see that (x;),(*,) have a solution no
matter what 0{,00 are if and only if the

determinant
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ay a9
of the Coefficient Matrix
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a1 ag

of (x) is not zero. In that case we get

bla%—bga%

Qj —
1.2 921
1ay—aas

bga%—bla%

Y= T35 91
1ay—a7ay




